

On The T Curvature Tensor of Generalized Sasakian Space Form

Anita Kumari and S. K. Chanyal

Department of mathematics d. S. B. Campus, kumaun university, nainital, uttarakhand

Abstract: The objects of the present paper is to characterize generalized Sasakian-space-form satisfying certain curvature conditions on T curavature tensor . In this paper we study T semisymmetric, T flat, T flat and T recurrent generalized Sasakian-space-forms. Generalized Sasakian-space-form satisfying $T:S = 0$ and $T:R = 0$ have also been studied.

Keywords: T curvature tensor, Generalized Sasakian manifold, T semisymmetric, T flat and T -flat .

I. Introduction

Alegre [1] defined Generalized Sasakian-space-form as the almost contact metric manifold $(M^{2n+1}; \phi, \xi, \eta, g)$ whose curvature tensor R is given by

$$R = f_1 R_1 + f_2 R_2 + f_3 R_3; \quad (1.1)$$

where f_1, f_2, f_3 are some differentiable functions on M and

$$\begin{aligned} R_1(X; Y)Z &= g(Y; Z)X - g(X; Z)Y; \\ R_2(X; Y)Z &= g(X; Z)Y - g(Y; Z)X + 2g(X; Y)Z; \\ R_3(X; Y)Z &= (X(Z)Y - (Y(Z)X) + g(X; Z)(Y - Z) - g(Y; Z)(X - Z)); \end{aligned} \quad (1.2)$$

for any vector fields X, Y, Z on M^{2n+1} . In such a case we denote the manifold as $M(f_1; f_2, f_3)$. This kind of manifold appears as a generalization of the well-known Sasakian-space-forms by taking $f_1 = (c + 3)/4; f_2 = f_3 = (c - 1)/4$: It is known that any three-dimensional (ϕ, ξ, η) -trans-Sasakian manifold with $\phi^2 X = -X + \eta(X)\xi$; depending on c is a generalized Sasakian-space-form. The author gave results about Chen inequality on submanifolds of generalized complex space-forms and generalized Sasakian-space-forms [2], [3] analyse the CR submanifolds of generalized Sasakian-space-forms [3] In [9] Kim studied conformally flat generalized Sasakian-space-forms and locally symmetric generalized Sasakian-space-forms. De and Sarkar [6] studied generalized Sasakian-space-forms regarding projective curvature tensor.

On the other hand, Tripathi and Gupta introduced the T-curvature tensor which in particular cases reduces to other some known curvature tensors [15] . The author studied T-curvature tensor in k-curvature and Sasakian and $(N(k), \phi)$ semi-Riemannian manifold respectively. In this paper, we study the T-curvature tensor in generalized Sasakian-space-forms. The present paper is organized as follows. In Section 2, some preliminary results are recalled. In Section 3. we gave the introduction of T-curvature tensor. In section 4, T-semisymmetric generalized Sasakian-space-forms is studied. Section 5 deals with T- flat generalized Sasakian-space-forms. -T flat of generalized Sasakian-space-forms are studied in Section 6 . Section 7 is devoted to the study generalized Sasakian-space form satisfying $T:R = 0$. The last section contains the study of generalized Sasakian-space-forms satisfying $T:S = 0$:

II. Preliminaries

If, on an $(2n+1)$ dimesional differentiable manifold M^{2n+1} , there exists a vector valued real linear function ϕ , a 1-form η ; the associated vector field ξ and Riemann-ian metric g satisfying

$$\begin{aligned} \phi^2 X &= -X + \eta(X)\xi; \\ \phi(\xi) &= 0; \quad \eta(\xi) = 1; \quad g(\xi, \xi) = 1; \\ \phi(\phi X) &= -X + \eta(X)\xi; \quad \eta(\phi X) = -\eta(X); \\ g(\phi X, \phi Y) &= g(X, Y) - \eta(X)\eta(Y); \end{aligned} \quad (2.2)$$

for arbitrary vector fields X and Y on M^{2n+1} then $(M^{2n+1}; \phi, \xi, \eta, g)$ is called an almost contact metric manifold [5] and the structure (ϕ, ξ, η, g) is called an almost contact

$$\begin{aligned} \text{metric structure on } M^{2n+1}: \text{ From(2.1),(2.2) and (2.3) we have} \\ g(\phi X, \phi Y) &= g(X, Y) - \eta(X)\eta(Y); \quad g(\phi X, \xi) = 0; \\ (\mathcal{L}_\xi \eta)(Y) &= g(\mathcal{L}_\xi Y, \xi); \end{aligned} \quad (2.4)$$

Again we know [1] that in a $(2n+1)$ -dimensional generalized Sasakian-space-form

$$\begin{aligned}
 R(X; Y;)Z = & f_1 fg(Y; Z)X - g(X; Z)Y + g \\
 & + f_2 fg(X; Z)Y - g(Y; Z)X + 2g(X; Y)Zg \\
 & + f_3 f(X)(Z)Y - (Y)(Z)X + g(X; Z)(Y) \\
 & g(Y; Z)(X)g:
 \end{aligned} \tag{2.5}$$

$$S(X; Y) = (2nf_1 + 3f_2 - f_3)g(X; Y) - (3f_2 + (2n - 1)f_3)(X)(Y); \tag{2.6}$$

$$\begin{aligned}
 QX = & (2nf_1 + 3f_2 - f_3)X - (3f_2 + (2n - 1)f_3)(X); \\
 r = & 2n(2n + 1)f_1 + 6nf_2 - 4nf_3;
 \end{aligned} \tag{2.8}$$

for all vector field $X; Y; Z$ on M^{2n+1} , where R denotes the curvature tensor of M^{2n+1} and $S; r$ are Ricci tensor and Scalar curvature respectively and Q is Ricci operator, that is, $g(QX; Y) = S(X; Y)$: On a generalized Sasakian-space-forms, the following equations hold:

$$R(X; Y) = (f_1 - f_3) [(Y)X - (X)Y]; \tag{2.9}$$

$$R(; X)Y = R(X;)Y = (f_1 - f_3) [g(X; Y)(Y)X]; \tag{2.10}$$

$$(R(X; Y)Z) = (f_1 - f_3) [(X)g(Y; Z) - (Y)g(X; Z)] \tag{2.11}$$

$$S(X;) = 2n(f_1 - f_3)(X); \tag{2.12}$$

$$Q = 2n(f_1 - f_3); \tag{2.13}$$

A generalized Sasakian space-form is said to be α -Einstein if its Ricci tensor S is of the form:

$$S(X; Y) = \alpha g(X; Y) + \beta (X)(Y); \tag{2.14}$$

for arbitrary vector fields X and Y , where α and β are smooth functions on M^{2n+1} :

III. T- Curvature Tensor

Tripathi and Gupta [15] introduced a general curvature tensor called T -curvature tensor which in particular reduced to some known curvature tensors. For a $(2n + 1)$ dimensional almost contact metric manifold the T curvature tensor is given by

$$\begin{aligned}
 T(X; Y)Z = & a_0R(X; Y)Z + a_1S(Y; Z)X + a_2S(X; Z)Y \\
 & + a_3S(X; Y)Z + a_4g(Y; Z)QX + a_5g(X; Z)QY \\
 & + a_6g(X; Y)QZ + a_7r(g(Y; Z)X - g(X; Z)Y);
 \end{aligned} \tag{3.1}$$

where $R; S; Q;$ and r are the curvature tensor, the Ricci tensor, the Ricci operator and the scalar curvature respectively and $a_0; a_1; \dots; a_7$ are real numbers.

Equation (3.1) is equivalent to

$$\begin{aligned}
 T(X; Y; Z; U) = & a_0R(X; Y; Z; U) + a_1S(Y; Z)g(X; U) \\
 & + a_2S(X; Z)g(Y; U) + a_3S(X; Y)g(Z; U) \\
 & + a_4g(Y; Z)S(X; U) + a_5g(X; Z)S(Y; U) \\
 & + a_6g(X; Y)S(Z; U) + a_7r(g(Y; Z;)g(X; U) \\
 & g(X; Z)g(Y; U));
 \end{aligned} \tag{3.2}$$

where R denote the Riemannian curvature tensor of type $(0,4)$ defined by $R(X; Y; Z; U) = g(R(X; Y; Z; U); U)$. Particularly, the T -curvature tensor, defined by (3.1) is reduced to be

- (1) the quasi-conformal curvature tensor C [17] if

$$\frac{1}{2n+1} = \frac{a_0}{2}$$

$$a_1 = a_2 = a_4 = a_5; a_3 = a_6 = 0; a_7 = 1 - (n + 2a_1),$$

- (2) the conformal curvature tensor C [7] if

$$1 = \frac{a_0}{2n+1}$$

- (3) the conharmonic curvature tensor L [8] if

$$a_0 = 1; a_1 = a_2 = a_4 = a_5 = \frac{1}{2n+1}; a_3 = a_6 = 0; a_7 = 0;$$

- (4) the concircular curvature tensor (Yano, K., 1940) if

$$\begin{aligned}
 a_0 = & 1; \\
 a_1 = & a_2 = a_3 = a_4 = a_5 = a_6 = 0; a_7 = \frac{1}{2n(2n+1)};
 \end{aligned}$$

- (5) the pseudo-projective curvature tensor P [13]

$$\begin{aligned}
 a_1 = & \frac{1}{2n+1} \\
 a_2; a_3 = & a_4 = a_5 = a_6 = 0; a_7 = \frac{a_0}{2n+1 + a_1};
 \end{aligned}$$

1

- (6) the projective curvature tensor P [16] if
 $a_0 = 1; a_1 = a_2 = \frac{1}{2}n; a_3 = a_4 = a_5 = a_6 = a_7 = 0;$
 (7) the M projective curvature tensor [11] if
 $a_0 = 1; a_1 = a_2 = a_4 = a_5 = \frac{1}{4}n, a_3 = a_6 = a_7 = 0;$
 (8) the W_0 -curvature tensor [16] if

- $\frac{1}{2}$
 $a_0 = 1; a_1 = a_5 = \frac{1}{n}, a_2 = a_3 = a_4 = a_6 = a_7 = 0;$
 (9) the W_0 curvature tensor [11] if
 $a_0 = 1; a_1 = a_5 = \frac{1}{2}n; a_2 = a_3 = a_4 = a_6 = a_7 = 0;$

- (10) the W_1 -curvature tensor [11] if
 $a_0 = 1; a_1 = a_2 = \frac{1}{2}n; a_3 = a_4 = a_5 = a_6 = a_7 = 0;$
 (11) the W_1 -curvature tensor [11] if

- $\frac{1}{2n}$
 $a_0 = 1; a_1 = a_2 = \frac{1}{2n}; a_3 = a_4 = a_5 = a_6 = a_7 = 0;$
 the
 (12) W_2 -curvature tensor (Pokhariyal G.P.and R.S.Mishra 1970) if

- $\frac{1}{2n}$
 $a_0 = 1; a_4 = a_5 = \frac{1}{2n}, a_1 = a_2 = a_3 = a_6 = a_7 = 0;$
 the
 (13) W_3 -curvature tensor [11] if

- $\frac{1}{2n}$
 $a_0 = 1, a_2 = a_4 = \frac{1}{2n}; a_1 = a_3 = a_5 = a_6 = a_7 = 0;$
 (14) the W_4 -curvature tensor [11] if
 $a_0 = 1; a_5 = a_6 = \frac{1}{2}n; a_1 = a_2 = a_3 = a_4 = a_7 = 0;$

- (15) the W_5 -curvature tensor [12] if
 $a_0 = 1, a_2 = a_5 = \frac{1}{2}n; a_1 = a_3 = a_4 = a_6 = a_7 = 0;$
 (16) the W_6 -curvature tensor [12] if
 $a_0 = 1, a_1 = a_6 = \frac{1}{2}n; a_2 = a_3 = a_4 = a_5 = a_7 = 0;$

- (17) the W_7 -curvature tensor [12] if
 $\frac{1}{2}$
 $a_0 = 1; a_1 = a_4 = \frac{1}{n}; a_2 = a_3 = a_5 = a_6 = a_7 = 0;$
 (18) the W_8 -curvature tensor [12] if

- $\frac{1}{2}$
 $a_0 = 1; a_1 = a_3 = \frac{1}{n}; a_2 = a_4 = a_5 = a_6 = a_7 = 0,$
 (19) the W_9 -curvature tensor [12] if

- $\frac{1}{2}$
 $a_0 = 1; a_3 = a_4 = \frac{1}{n}; a_1 = a_2 = a_5 = a_6 = a_7 = 0;$

The T -curvature tensor in a generalized Sasakian-space-form satisfies

$$\begin{aligned} T(X; Y) &= (a_0(f_1 - f_3) + a_7r) [(Y)X - (X)Y] \\ &+ 2n(f_1 - f_3) [a_1(Y)X + a_2(X)Y] \\ &+ a_3S(X; Y) + a_4(Y)QX + a_5(X)QY \\ &+ a_6 2n(f_1 - f_3)g(X; Y); \end{aligned} \tag{3.3}$$

$$(T(X; Y)) = [a_1 + a_2 + a_4 + a_5]2n(f_1 - f_3)(X)(Y) + a_3S(X; Y) + 2n(f_1 - f_3)a_6g(X; Y); \tag{3.4}$$

$$\begin{aligned} T(; Y)Z &= (a_0(f_1 - f_3) + a_7r) [g(Y; Z)(Z)Y] \\ &+ a_1S(Y; Z) + 2n(f_1 - f_3) [a_2(Z)Y + a_3(Y)Z] \\ &+ a_4 2n(f_1 - f_3)g(Y; Z) + a_5(Z)QY + a_6(Y)QZ; \end{aligned} \tag{3.5}$$

$$\begin{aligned} (T(; Y)Z) &= ((f_1 - f_3)a_0 + a_7r) [g(Y; Z) - (Z)(Y)] \\ &+ a_1S(Y; Z) + 2n(f_1 - f_3) [a_2 + a_3 + a_5 + a_6] (Y)(Z) \\ &+ 2n(f_1 - f_3)a_4g(Y; Z) \end{aligned} \tag{3.6}$$

and

On the t curvature tensor of generalized sasakian space form

5

$$(T(X; Y)Z) = (a_0(f_1 - f_3) + a_7r)(g(Y; Z)(X) - g(X; Z)(Y)) + a_1S(Y; Z)(X) + a_2S(X; Z)(Y) + a_3S(X; Y)(Z) + a_4g(Y; Z)(X) + a_5g(X; Z)(Y) + a_6g(X; Y)(Z) :$$

Now, we have the following definitions:

Definition(3.1) : A $(2n+1)$ -dimensional generalized Sasakian-space-form is said to be T flat if $T(X; Y) = 0$ for all $X, Y \in TM$:

Definition(3.2) : A $(2n+1)$ -dimensional generalized Sasakian-space form is said to be T semisymmetric if it satisfies $R \cdot T = 0$, where R is the Riemannian curvature tensor of the space-forms.

Definition (3.3) : A $(2n+1)$ -dimensional generalized Sasakian-space form is said to be T flat if $T = 0$.

4. T Semisymmetric Generalized Sasakian-space-forms

Let us suppose that the generalized Sasakian Space-form $M(f_1, f_2, f_3)$ is T -semisymmetric. Then we can write

$$R(\cdot; U) \cdot T(X; Y) = 0: \tag{4.1}$$

The above equation can be written as

$$R(\cdot; U) \cdot T(X; Y) - T(R(\cdot; U)X; Y) - T(X; R(\cdot; U)Y) + T(X; Y)R(\cdot; U) = 0: \tag{4.2}$$

$$T(X; Y)R(\cdot; U) = 0:$$

In view of (2.10) the above equation reduces to

$$(f_1 - f_3)[g(U; T(X; Y))(T(X; Y)U) - g(X; U)T(\cdot; Y) + (X)T(U; Y) - g(Y; U)T(X; \cdot) + (Y)T(X; U) - (U)T(X; Y) + T(X; Y)U] = 0: \tag{4.3}$$

Now, taking the inner product of above equation with \cdot and using equation (2.2) and (3.4) we get

$$(f_1 - f_3)[g(X; U)(T(\cdot; Y)) + (X)(T(U; Y)) - g(U; Y)(T(X; \cdot)) + (Y)(T(X; U))] = 0: \tag{4.4}$$

From the above equation, we have either $f_1 = f_3$ or

$$(X)(T(U; Y)) - g(X; U)(T(\cdot; Y)) - g(U; Y)(T(X; \cdot)) + (Y)(T(X; U)) = 0: \tag{4.5}$$

which by using (3.1) and (3.3) gives

$$[2n(f_1 - f_3)(a_1 + a_2 + a_3 + a_4 + a_5) + a_3(2nf_1 + 3f_2 - f_3)][g(Y; U)(X) + g(X; U)(Y)] + [4n(f_1 - f_3)(a_1 + a_2 + a_4 + a_5) + 2a_3(3f_2 + (2n - 1)f_3)](X)(Y)(U) = 0:$$

Hence we have the following theorem.

Theorem(3.2) : $(2n+1)$ -dimensional generalized Sasakian-space-form is T -semisymmetric either $f_1 = f_3$ or equation (4.6) is satisfied.

5. T Flat Generalized Sasakian-space-forms

Theorem(5.1): A $(2n+1)$ -dimensional generalized Sasakian-space-form is T flat if and only if

$$f_1 = \frac{3nf_2}{(n-1)} = f_3:$$

Proof: For a $(2n+1)$ dimensional T flat generalised Sasakian-space-form, we have from (3.1)

$$a_0R(X; Y)Z = a_1S(Y; Z)X + a_2S(X; Z)Y + a_3S(X; Y)Z + a_4g(Y; Z)QX + a_5g(X; Z)QY + a_6g(X; Y)QZ + a_7r(g(Y; Z)X - g(X; Z)Y): \tag{5.1}$$

In view of (2.6) and (2.7) the above equation takes the form

$$a_0R(X; Y)Z = (2nf_1 + 3f_2 - f_3)[a_1g(Y; Z)X + a_2g(X; Z)Y + a_3g(X; Y)Z] + (3f_2 + (2n - 1)f_3)[a_1(Y)(Z)X + a_2(X)(Z)Y + a_3(X)(Y)Z] + (2nf_1 + 3f_2 - f_3)[a_4g(Y; Z)X + a_5g(X; Z)Y + a_6g(X; Y)Z] + (3f_2 + (2n - 1)f_3)[a_4(X)g(Y; Z)]: \tag{5.2}$$

$$+ a_5(Y)g(X; Z) + a_6(Z)g(X; Y)]$$

$$+ a_7(2n(2n+1)f_1 + 6nf_2 - 4nf_3)[g(Y; Z)X - g(X; Z)Y]:$$

By virtue of (2.5) the above equation reduces to

ON THE T CURVATURE TENSOR OF GENERALIZED SASAKIAN SPACE FORM 7

$$f_1 fg(Y; Z)X - g(X; Z)Y + f_2 fg(X; Z) - Y - g(Y; Z)X + 2g(X; Y)Z - g$$

(5.3)

$$+ f_3 f(X)(Z)Y - (Y)(Z)X + g(X; Z)(Y) - g(Y; Z)(X) - g$$

$$= (2nf_1 + 3f_2 - f_3)[ag(Y; Z)X$$

$$+ a_2g(X; Z)Y + a_3g(X; Y)Z]$$

$$(3f_2 + (2n - 1)f_3)[a_1(Y)(Z)X$$

$$+ a_2(X)(Z)Y + a_3(X)(Y)Z]$$

$$+ (2nf_1 + 3f_2 - f_3)[a_4g(Y; Z)X + a_5g(X; Z)Y$$

$$+ a_6g(X; Y)Z] - (3f_2 + (2n - 1)f_3)[a_4(X)g(Y; Z)$$

$$+ a_5(Y)g(X; Z) + a_6(Z)g(X; Y)]$$

$$+ a_7(2n(2n+1)f_1 + 6nf_2 - 4nf_3)[g(Y; Z)X - g(X; Z)Y]:$$

Now, replacing Z by Z in the above equation, we obtain

$$2n(f_1 - f_3)((a_1 + 2a_4)g(Y; Z)(X) + (a_2 + 2a_5)g(X; Z)(Y))$$

$$+ (a_7(2n(2n+1)f_1 + 6nf_2 - 4nf_3) + a_0(f_1 - f_3))$$

$$(g(Y; Z)(X) - g(X; Z)(Y)) = 0: \tag{5.4}$$

Putting $X=$ in the above equation, we get

$$[2n(f_1 - f_3)(a_1 + 2a_4) + a_7 2n(2n+1)f_1$$

$$+ 6nf_2 - 4nf_3 + a_0(f_1 - f_3)]g(Y; Z) = 0: \tag{5.5}$$

Since $g(Y; Z) \neq 0$ in general we obtain

$$[2n(a_1 + a_7) + 4n(a_4 + a_7) + a_0]f_1 + a_7 6nf_2$$

$$[2na_1 + 4n(a_4 + a_7) + a_0]f_3 = 0: \tag{5.6}$$

Again replacing X by X in (5.3) and $Y=$ we get

$$[(2nf_1 + 3f_2 - f_3) - (3f_2 + (2n - 1)f_3)](a_2 + 2a_5)$$

$$a_7(2n(2n+1)f_1 + 6nf_2 - 4nf_3)$$

$$a_0f_1 + a_0f_3]g(X; Z) = 0: \tag{5.7}$$

Since $g(X; Z) \neq 0$, in general, we obtain

$$[2n(a_2 - a_7(2n+1) + 4na_5 - a_0)]f_1 - 6na_7f_2$$

$$+[a_0 - 2na_2 + 4n(a_7 - a_5)]f_3 = 0: \tag{5.8}$$

From (5.6) and (5.8), we get

$$f_1 = f_3: \tag{5.9}$$

Using (5.9) in (5.6), we obtain

ON THE T CURVATURE TENSOR OF GENERALIZED SASAKIAN SPACE FORM 8

$$f_3 = \frac{3nf_2}{n-1}: \tag{5.10}$$

Thus in view of (5.9) and (5.10) we have

$$f_1 = \frac{3nf_2}{n-1} = f_3: \tag{5.11}$$

6. T flat generalized sasakian-space-forms

Theorem 6.1: If A $(2n + 1)$ -dimensional generalized Sasakian-space-form is $-T$ flat then it is $-Einstein$ manifold, if $a_4 \neq 0$:

Proof : Let us consider that a generalized Sasakian-space-form in $-T$ flat, that is $T(X; Y) = 0$: Then in view of

(3.1) we have

$$\begin{aligned}
 a_0R(X; Y) &= a_1S(Y;)X + a_2S(X;)Y \\
 &+ a_3S(X; Y) + a_4g(Y;)QX + a_5g(X;)QY \\
 &+ a_6g(X; Y)Q + a_7r(g(Y;)X - g(X;)Y) :
 \end{aligned} \tag{6.1}$$

By virtue of (2.9) and (2.12) the above equation reduces to

$$\begin{aligned}
 (a_0(f_1 - f_3) - a_7r) ((Y) X - (X)Y) &= a_12n(f_1 - f_3) (Y) X \\
 + a_22n(f_1 - f_3) (X)Y + a_3(2nf_1 + 3f_2 - f_3)g(X; Y) &
 \end{aligned} \tag{6.2}$$

$$\begin{aligned}
 &a_3(3f_2 + (2n - 1)f_3) (X) (Y) + a_4 (Y) QX \\
 &+ a_5 (X) QY + a_62n(f_1 - f_3)g(X; Y) :
 \end{aligned}$$

Which by putting $Y = g$ gives

$$\begin{aligned}
 a_4QX &= [a_0(f_1 - f_3) - a_12n(f_1 - f_3) - a_7r]X \\
 [a_0(f_1 - f_3) + a_7r - a_22n(f_1 - f_3) - a_32n(f_1 - f_3) & \\
 a_52n(f_1 - f_3) - a_62n(f_1 - f_3)] (X) : &
 \end{aligned} \tag{6.3}$$

Now, taking inner product of the above equation with U , we get

$$\begin{aligned}
 a_4S(X; U) &= [a_0(f_1 - f_3) - a_12n(f_1 - f_3) - a_7r]g(X; U) \\
 [a_0(f_1 - f_3) + a_7r - a_22n(f_1 - f_3) - a_32n(f_1 - f_3) & \\
 a_52n(f_1 - f_3) - a_62n(f_1 - f_3)] (X) (U) : &
 \end{aligned} \tag{6.4}$$

since $a_4 \neq 0$, which shows that generalized Sasakian-space-form is an η -Einstein manifold.

7. Generalized Sasakian-space-form Satisfying $T \cdot S = 0$.

Theorem(7.1) : A $(2n+1)$ -dimensional generalized Sasakian-space-form satisfying $T \cdot S = 0$ is an η -Einstein manifold if

$$(a_0(f_1 - f_3) + a_7r) - a_12n(f_1 - f_3) - a_22n(f_1 - f_3) \neq 0 :$$

Proof : Let us consider generalized Sasakian-space-form M^{2n+1} satisfying $T (; X) \cdot S = 0$ In this case we can write

$$S (T (; X)Y; Z) + S (Y; T (; X)Z) = 0 : \tag{7.1}$$

In view of (3.5) the above equation reduces to

$$\begin{aligned}
 (a_0 (f_1 - f_3) + a_7r)[g(X; Y)S(; Z) - (Y)S(X; Z) & \\
 + g(X; Z)S(; Y) - (Z)S(X; Y)] & \\
 + a_1[S(X; Y)S(; Z) + S(X; Z)S(; Y)] & \\
 + a_22n(f_1 - f_3) [(Y)S(X; Z) + (Z)S(X; Y)] & \\
 + a_32n(f_1 - f_3) [S(Y; Z) (X) + S(Z; Y) (X)] & \\
 + a_42n(f_1 - f_3) [g(X; Y)S(; Z) + g(X; Z)S(; Y)] & \\
 + a_5[(Y)S(QX; Z) + (Z)S(QX; Y)] & \\
 + a_6 (X)[S(QY ; Z) + S(QZ; Y)] = 0 : &
 \end{aligned} \tag{7.2}$$

Now, putting $Z = g$ in the above equation, we get

$$\begin{aligned}
 [a_0 (f_1 - f_3) + a_7r - a_12n(f_1 - f_3) - a_22n(f_1 - f_3)]S(X; Y) & \\
 = [2n(f_1 - f_3)(a_0(f_1 - f_3) + a_7r) + a_44n^2(f_1 - f_3)^2]g(X; Y) & \\
 + [a_14n^2(f_1 - f_3)^2 + a_24n^2(f_1 - f_3)^2 + a_38n^2(f_1 - f_3)^2 & \\
 + a_44n^2(f_1 - f_3)^2 + a_5(2n(f_1 - f_3) & \\
 + f_3(1 - 2n) - 3f_2)2n(f_1 - f_3) & \\
 + a_68n^2(f_1 - f_3)^2] (X) (Y) : &
 \end{aligned} \tag{7.3}$$

In view of (2.6) the above equation takes the form

1

$$\begin{aligned}
 S(X; Y) = & \quad \overline{K} [(2n(f_1 - f_3)(a_0(f_1 - f_3) + a_7r) \\
 & + a_44n^2(f_1 - f_3)^2)g(X; Y) + [a_14n^2(f_1 - f_3)^2 \\
 & + a_24n^2(f_1 - f_3)^2 + a_38n^2(f_1 - f_3)^2 + a_44n^2(f_1 - f_3)^2 \\
 & + a_5(2n(f_1 - f_3) + f_3(1 - 2n) - 3f_2) + a_68n^2(f_1 - f_3)^2] (X) (Y) ; & \tag{7.4}
 \end{aligned}$$

where $K = (a_0(f_1 - f_3) + a_7r) - a_12n(f_1 - f_3) - a_22n(f_1 - f_3) \neq 0$: This completes the proof.

8. Generalised Sasakian-space form satisfying $T \cdot R = 0$.

Theorem (8.1): A $(2n + 1)$ -dimensional generalized Sasakian-space-form satisfying $T.R=0$ is an -Einstein manifold , if $((2na_1 + a_5)f_3 (a_1 + a_5)f_1) \neq 0$: Proof : Let us consider a generalized Sasakian-space-form satisfying

$$T (; X):R(Y; Z)U = 0: \tag{8.1}$$

This can be written as

$$T (; X)R(Y; Z)U - R(T (; X)Y; Z)U - R(Y; T (; X)Z)U + R(Y; Z)T (; X)U = 0: \tag{8.2}$$

which on using (3.5) takes the following form

$$\begin{aligned} & [f_1fg(Z; U)T (; X)Y - g(Y; U)T (; X)Z]g + f_2fg(Y; U)T (; X)Z \\ & g(Z; U)T (; X)Y + 2g(Y; Z)T (; X)Ug \\ & + f_3f (Y) (U)(T (; X)Z) \\ & (Z) (U)(T (; X)Y) + g(Y; U) (Z)T (; X) \\ & g(Z; U) (Y)T (; X)g] \\ & [(a_0(f_1 - f_3) + a_7r)(g(X; Y)R(; Z)U \\ & (Y)(R(X; Z)U) + a_1S(X; Y)(R(; Z)U) + 2n(f_1 f_3)a_2 (Y)(R(X; Z)U) \\ & + 2n(f_1 f_3)a_3 (X)(R(Y; Z)U) + a_4g(X; Y)2n(f_1 f_3)(R(; Z)U) \\ & + a_5 (Y)(R(QX; Z)U) + a_6 (X)R(QY; Z)U)] \\ & + [a_0(f_1 - f_3) + a_7r)(g(X; Z)R(; Y) \\ & (Z)(R(X; Y)U) + a_1S(X; Z)(R(; Y)U) + 2n(f_1 f_3)a_2 (Z)(R(X; Y)U) \\ & + 2n(f_1 f_3)a_3 (X)(R(Z; Y)U) + a_4g(X; Z)2n(f_1 f_3)(R(; Y)U) \\ & + a_5 (Z)(R(QX; Y)U) + a_6 (X)(R(QZ; Y)U)] \\ & [(a_0(f_1 - f_3) + a_7r)(g(X; U)R(Y; Z) \\ & (U)(R(Y; Z)X) + a_1S(X; U)R(Y; Z) \\ & + a_22n(f_1 - f_3) (U)(R(Y; Z)X) \\ & + 2n(f_1 - f_3)a_3 (X)(R(Y; Z)U) \\ & + a_4g(X; U)2n(f_1 - f_3)(R(Y; Z)) + a_5 (U)(R(Y; Z)QX \\ & + a_6 (X)(R(Y; Z)QU)] = 0: \tag{8.3} \end{aligned}$$

Now taking the inner product of the above equation with , we get

$$\begin{aligned} & [f_1fg(Z; U) (T (; X)Y) g(Y; U) (T (; X)Z)g + f_2fg(Y; U) (T (; X) Z) \\ & g(Z; U) (T (; X) Y) + 2g(Y; Z) (T (; X) U)g \\ & + f_3f (Y) (U) (T (; X)Z) (Z) (U) (T (; X)Y) \\ & + g(Y; U) (Z) (T (; X)) g(Z; U) (Y) (T (; X))g] \\ & + [(a_0(f_1 - f_3) + a_7r)((g(X; Y) (R(; Z)U) \\ & (Y) (R(X; Z)U)) + (g(X; Z) (R(; Y)U) \\ & (Z) (R(X; Y)U) (g(X; U) (R(Y; Z)) \\ & (U) (R(Y; Z)X))] + a_1(S(X; Y) (R(; Z)U) + S(X; Z) (R(; Y)U) S(X; U) (R(Y; Z) \\ &)] \\ & + 2n(f_1 f_3)a_2[(Y) (R(X; Z)U) + (Z) (R(X; Y)U) (U) (R(Y; Z)X)] + a_32n(f_1 f_3)[(R(Y; Z)U) \\ & + (R(Z; Y)U) (R(Y; Z)U)] (X) \\ & + a_42n(f_1 - f_3)[g(X; Y) (R(; Z)U) \\ & + g(X; Z) (R(; Y)U) g(X; U) (R(Y; Z))] \\ & + a_5[(Y) (R(QX; Z)U) + (Z) (R(QX; Y)U) \\ & (U) (R(Y; Z)QX)] + a_6 (X)[(R(QY; Z)U) + (R(QZ; Y)U) (R(Y; Z)QU)] = 0: \tag{8.4} \end{aligned}$$

Let $fe_1; e_2; \dots; e_{2n+1}$ be an orthonormal basis of TM. Putting $Z = U = e_i$ in above equation, taking summation over $i, 1 \leq i \leq 2n + 1$ and noting that

$$\begin{aligned} & \sum_{i=1}^{2n+1} (e_i)T (; X; e_i) = [(a_0(f_1 - f_3) + a_7r) + 2n(f_1 - f_3)(a_1 + a_3 + a_4 + a_6) \\ & a_5(3f_2 + (2n - 1)f_3)] (Y) + [(a_0(f_1 - f_3) + a_7r) + 2n(f_1 f_3)a_2 + a_5(2nf_1 + 3f_2 f_3)]Y; \end{aligned}$$

we obtain

$$\begin{aligned} & (2na_1 + a_5)f_3 (a_1 + a_5)f_1S(X; Y) \\ & = (f_1:f_3 - f_3)^2[2n(a_0 + 2na_4)g(X; Y) - 4n((a_0 + a_1 + a_4) (X) (Y))]; \tag{8.5} \end{aligned}$$

since $((2na_1 + a_5)f_3 (a_1 + a_5)f_1) \neq 0$, which shows that M^{2n+1} is an -Einstein manifold. This completes the proof.

References

- [1]. P.Alegre, E.D. Blair and A.Carriazo, : Generalized Sasakian-space-forms, Israel Journal of Mathematics, vol. 141, 2004, 157-183.
- [2]. P. Alegre and A.Carriazo, : Structure on generalized Sasakian-space-form, Differential Ge-ometry and its Applications, vol. 26, no. 6, 2008, 656-666.
- [3]. ON THE T CURVATURE TENSOR OF GENERALIZED SASAKIAN SPACE FORM 12
- [4]. P.Alegre, A.Carriazo, Y.H.Kim and D.W.Yoon, : B.Y.Chen's inequality for submanifolds of generalized space forms, Indian journal of Pure and Applied Mathematics, vol.38, no.3, 2007 ,185-201.
- [5]. R. Al-Ghefari, R. Al-Solamy and H. M. Shahid, : Contact CR-warped product submanifolds in generalized Sasakian space forms, Balkan Journal of Geometry and its applications, Vol. 11, no. 2, 2006 ,1-10.
- [6]. D.E.Blair, : Contact Manifold in Riemannian Geometry, vol. 509 of Lecture Notes in Math-ematics, Springer, Berlin, Germany, 1976.
- [7]. U.C.De and A.Sarkar, : On the projective curvature tensor of generalized sasakian-space-forms, Questions Mathematicae, vol. 33, no.2, 2010, 245-252.
- [8]. L.P.Eisenhart, : Riemannian Geometry, Princeton University Press, 1949.
- [9]. Y. Ishii,: On conharmonic transformations, Tensor, vol. 7, 1957 ,73-80.
- [10]. U. K. Kim, : Conformally flat generalized Sasakian-space-forms and locally symmetric gen-eralized Sasakian-space-forms, Note di Mathematica, vol.26, no.1, 2006 ,55-67.
- [11]. R. S. Mishra, : Structure on a Differentiable Manifold and Their applications, vol. 50-A, Balrampur House, allahabad, India, 1984.
- [12]. G.P.Pokhariyal and R.S.Mishra, : Curvature tensors and their relativistic significance II, Yokohama Math. J., 19 no, 1971, 97-103 .
- [13]. G.P.Pokhariyal, : Relativstic significance of curvature tensors", Internat. J. Math. Math. Sci., 5, no.1, 1982, 133-139.
- [14]. B.Prasasd, : A pseudo projective curvature tensor on a Riemannian manifold, Bull. Calcutta Math. Soc., 94), no.3, 2002 ,163-166.
- [15]. R.J. Shah , : On T-curvature tensor in LP-Sasakan manifold, Kathmandu Univ. J.Sci., Eng. Tech., vol.9, no.II, 2013,69-79.
- [16]. M.M.Tripathi and P.Gupta, :T-curvature tensor on a semi-Riemannian manifold, J.Adv. Math, Stud. 4, No.1, 2011,117-129,.
- [17]. K.Yano and S.Bochner, : Curvature and Betti numbers, Annals of Mathematics Studies 32, Princeton University Press, 1953.
- [18]. K.Yano and S.Sawaki, "Riemannian manifolds admitting a conformal transformation group", J. Diff. Geom., 2 , 1968,161-184.